=z
— [BE]
Rr=y=z=025(0,0)=0;
Rrz=y=0"%f(0,z)= f(z,0)=0:
o=k y=N-1-k'2=1'0<k<N—1-
BN =LY+ SV -k R+ FE LN =1 =0,

# N —11-,-Zf - k,k +Zf(k+1,N—1—k)=0

I*.v..O ‘ k=0
N-1 N1 C
Y fk+LN-1-k)=-Y f(N=-kk—f(ON)
k=0 k=1

CNFN=1,1)=0, f(N-1,1)=0.

B f(N~kk)=-Fk+1,N-1~k)
=f(N—-(k+1),k+1)
#—5%Bf(N-kk =0k=01,--, N

o B #3E L1=4/3
& L2= L4

(1) ®#E#BC/BCB c¢AB-C' ¢ AC> #BF-CF

(2) &« EF LBCBC)/BC» & BC LEF ' LB'EF = ZC'EF = 90°
3) ® BC'//BC BD=DC#BE=CE  ®#ELBC &+ %
(4) & (2)~ (3% BF=CF#% LFB'E=/FCE

(5)

& LAPF = /B'EF = 90°4«PBEFABREEER » &2 =
LFB'E

(6) FIE L4=LFC'E
(7) & (4)~ (5)~ (6) Bem L2 = L4
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